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[ | Explanatory answers (for selected questions)]

1. ‘Yesterday’ a past action. Verb must be in past tense ‘went.
2. Natural phenomena - Present Tense — boils.

3. ‘A’is the correct option. The present continuous tense is used to express a future action,
especially when it is pre-determined. Will+infinitive implies intention alone, and this
intention is usually, though not necessarily, unpremeditated.

4. Present perfect tense.

5. Point of time — present perfect continuous tense.
14. both __ and ____ correlative conjunctions.
16. glowing account - collocation.
17. Neither = none of the two — always singular — is.
18. ‘a pair’ singular — was.
19. A reflexive pronoun — themselves.
20. Question word used for things or place is ‘which’

22. Option ‘D’is the correct answer.‘The’ is correct as article ‘the’ is used before a noun,
which by reason of locality can represent only one particular thing or before a singlar
noun that represents a class of things.

30. The sentence contains intransitive verb — there is no object — so passive can't be
written.

33. The sentence is a Natural truth — hence Indirect speech verb doesn’t change.
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